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! Question Description "Task-based learning" in English Language Teaching focuses on----------- .
A memorizing meanings and vocabulary
B completing meaningful tasks
c practising grammar drills
D learning the rules of translation
E None of the above
Correct Answer B

Marks 1



Question Description When all the individuals in a society are equal and have the same rights and opportunities, it is described as --------

A equestrian

B egalitarian

c gender-neutral

D opportunistic

E None of the above
Correct Answer B

Marks 1

Question Description Which of the following is NOT a part of The Waste Land”"?
A The Red Rock

B A Game of Chess
c A Fire Semon

D Burial of the Dead
E None of the above
Correct Answer A

Marks 1



4

Question Description

Correct Answer

Marks

Match the poem and its poet from the list provided below:

The above lines are taken from

(i) John Donne’s (A) “Because I Could Not Stop for Death
(ii) Dylan Thomas (B)“And Death Shall Have No Dominion”
(iii) Rupert Brook’s (C) * Death is Nothing at All”

(iv) Emily Dickinson’s (D) “The Soldier”

(E) “Death Be Not Proud”

(D-(E); (iD)-(A); (iiD)-(D); (iv)-(C)

(1)-(C); (ii)-(A); (iii)-(D); (iv)-(B)

(1)-(B); (ii)-(A); (iii)-(D); (iv)-(C)

(D)-(E); (i))-(B); (iii)-(D); (iv)-(A)

None of the above



Question Description The following play is NOT a part of the trilogy Mourning becomes Electra

A Homecoming

B Heir to a misfortune
c The Hunted

D The Haunted

E None of the above
Correct Answer B

Marks 1



Question Description Of the following listed items, which is the primary source in literary research?

A a critical essay

B a novel

c a review article

D an encyclopaedia
E None of the above
Correct Answer B

Marks 1



Question Description "Equivalence" in translation refers to----

A Similar meaning in both languages
B Exact word-for-word translation

c Only grammar

D Only syntax

E None of the above

Correct Answer A

Marks 1

Question Description Name the novelist who wrote "Things Fall Apart"
A Margaret Lawrence

B Ngiigi wa Thiong’o

c Chinua Achebe

D Arundhati Roy

E None of the above

Correct Answer C

Marks 1



10

Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

"He has been working" is an example of a sentence written using the -------- tense.
present perfect

present perfect continuous

past continuous

(d) future perfect

None of the above

The Male-dominated social order is known as -------

Anti-feminist

Feminist
Patriarchal
All of the above

None of the above



1" Question Description The rare practitioner of the "Sprung Rhythm" in English is the following poet: associated with:

A Gerard Manley Hopkins
B Robert Browning

c T.S. Eliot

D Emily Dickinson

E None of the above
Correct Answer A

Marks 1



12" Question Description "Domestication" is a term in Translation Studies which implies ----

A making the text familiar to target culture
B Keeping foreign elements

c Literal translation

D Machine translation

E None of the above

Correct Answer A

Marks 1



13 Question Description Of the items given below, --------- is an adverb.

A quickly

B the

c run

o beautiful

E None of the above
Correct Answer A

Marks 1



14" Question Description “O what a -~ is man! How noble in reason! How infinite in faculties! In form and moving how express
and admirable!”
Complete this passage using the appropriate phrase given below

A abominable quirk

B quintessence of dust
c piece of work

D paragon of creation
E None of the above
Correct Answer C

Marks 1



15 Question Description The main objective behind making use of a literature review in research is to -------

A present new data
B understand methodology
c collect statistics
D summarize existing knowledge
E None of the above
Correct Answer D
Marks 1
16 Question Description Give the full form of the paradigm "PPP" as used in English Language Teaching
A Present, Practice, Produce
B Plan, Prepare, Perform
c Present, Perform, Practice
D Prepare, Practice, Produce
E None of the above
Correct Answer A

Marks 1



7" Question Description In research parlance the abbreviations MLA and APA stand for two distinct —

A literary genres
B research methods
c literary movements
D citation styles
E None of the above
Correct Answer D
Marks 1

18 Question Description In Pedagogy, "error correction” is an important aspect of language ------
A acquisition
B attrition
c fossilization
D extinction
E None of the above
Correct Answer A

Marks 1



19

20

Question Description Which of the following realist playwrights is known as the “father of modern drama” ?
A August Strindberg

B George Bernard Shaw

c Anton Chekhov

D Henrik Ibsen

E None of the above

Correct Answer D

Marks 1

Question Description In the domain of research, the term "plagiarism" implies
A creative writing with influence of forerunners

B useof others’ work without acknowledgement

c editing manuscripts without permission

D report of ablind peer review

E None of the above

Correct Answer B

Marks 1



21 Question Description The concept of "dynamic equivalence" was formed and elucidated by ---

A Eugene Nida

B Roman Jakobson
c Susan Bassnett

D André Lefevere

E None of the above
Correct Answer A

Marks 1



22 Question Description According to Aristotle, tragedy is the dramatic imitation of a serious, complete and important action, employing
language embellished with artistic ornament; it is presented through poetic narration rather than action, arousing
applause to achieve catharsis essential characteristics through the dramatic plot.

A The first part of this Statement is true; but the second part is false.

B The first part of this Statement is false; but the second part is true.

c The first part of this Statement is true; and the second part is also true.
D The first part of this Statement is false; the second part is also false.

E None of the above

Correct Answer A

Marks 1



23 Question Description In Pedagogy the concept of "scaffolding" is used to convey the sense of ----

A giving complete answers
B providing support

c overlooking errors

D repeating by rote

E None of the above
Correct Answer B

Marks 1



24 Question Description “The mind is its own place, and in itself can make a heaven of hell and a hell of heaven.” This statement contains an

obvious figure of speech. Identify it from the options given below:

A Paradox; hyperbole; antithesis

B Synecdoche; transferred epithet; oxymoron
c Paradox; oxymoron, personification

D Hyperbole; transferred epithet; oxymoron
E None of the above

Correct Answer A

Marks 1



25 Question Description The smallest meaningful unit of language is known as the ---

A word

B phoneme

c syllable

D morpheme

E None of the above
Correct Answer D

Marks 1



26 Question Description "Their" is used as an adjective, whereas theirs is a pronoun”. Read both the statements in the above sentence and state

whether they are true or false.

A (1) is true but (ii) is false
B (1) is false but (ii) is true
c Both (i) and (ii) are false
D Both (i) and (ii) are true.
E None of the above
Correct Answer D

Marks 1



27 Question Description Identify from the following skills the one which is NOT a language skill, per se

A reading

B writing

c sketching

D listening

E None of the above
Correct Answer C

Marks 1



28 Question Description ‘T am a Jew. Hath not a Jew eyes? Hath not a Jew hands, organs, dimensions, senses, affections, passions?” The tone
and tenor of these questions reveal

A the discrimination against the marginalized people
B the defiance of marginalization and discrimination
c an inferiority complex in the speaker’s mind

D an anatomical stereotype of humankind

E None of the above

Correct Answer B

Marks 1



29 Question Description The statement “The last temptation is the greatest trason:/ To do the right thing for the wrong reason, ” occurs in the

play

A The Confidential Clerk
B Family Reunion
c The Cocktail Party
D Murder in the Cathedral
E None of the above
Correct Answer D
Marks 1

30" Question Description "A Room of One’s Own" is a seminal feminist text by
A Toril Mot
B Virginia Woolf
c Sandra Gilbert
D Gayatri Spivak
E None of the above
Correct Answer B

Marks 1



31 Question Description The author of “The Translator’s Invisibility: A History of Transaltion" is ----

A Susan Basnett
B Lawrence Venuti
c George Steiner
D André Lefevere
E None of the above
Correct Answer B
Marks 1

32 Question Description The trilogy Mourning becomes Electra is written by
A Tennessee Williams
B Christopher Marlow
c Samuel Beckett
D Eugine O’Neil
E None of the above
Correct Answer D

Marks 1



33 Question Description Identify from the specimen given below, the sentence which is in passive voice.

A She writes a letter.
B A letter is written by her.
c She will write a letter.
D She wrote a letter.
E None of the above
Correct Answer B
Marks 1

34 Question Description The research method which relies heavily on interviews and observations is called----
A Quantitative
B Qualitative
c Experimental
D Statistical
E None of the above
Correct Answer B

Marks 1



35 Question Description Identify the name of the protagonist of the novel "Midnight’s Children".

A Salman Rushdie
B Saleem Sinai
c Baby Kochamma
D Arundhati Roy
E None of the above
Correct Answer B
Marks 1

36 Question Description Identify from the names given below, the author of "After Babel."
A Lawrence Venuti
B Susan Bassnett
c George Steiner
D (d) André Lefevere
E None of the above
Correct Answer C

Marks 1



37 Question Description Identify from the following modes of rendering the one that is NOT considered as a type of translation.

A literal
B free
c metaphorical
D communicative
E None of the above
Correct Answer C
Marks 1
38 Question Description The following is NOT as character in “The God of Small Things".
A Estha Ipe
B Velutha
c Rahel
D Annu
E None of the above
Correct Answer D

Marks 1



39 Question Description

Correct Answer

Marks

Match the following Texts with their authors
(A) The Feminist Mystique
(B) The Second Sex
(C) Sexual Polifics

(D)4 Vindication ofthe Rights of Women

(A)-(1v); (B)-(i1); (C)-(iii);(D)- (v)
(A)-(iii); (B)-(ii); (C)-(v);(D)- (iv)
(A)-(i1); (B)-(1); (O)-(iv);(D)- (iii)
(A)-(1v); (B)-(1); (C)-(ii);(D)- (v)

None of the above

(i) Simone de Beauvoir
(ii) Kate Millett

(iii) Elaine Showalter
(iv) Betty Friedan

(v) Mary Wollstonecraft



40" Question Description The term “hypothesis” in research can be defined as -----

A a proven fact

B a summary

c a tentative statement
D a conclusion

E None of the above
Correct Answer C

Marks 1



41 Question Description Match the titles of the plays with the names of their playwrights
(1) A Streetcar Named Desire (A) Bertolt Brecht
(ii) Murder in the Cathedral (B) Tennessee Williams

(iii) The Caucasian Chalk Circle  (C) Henry Miller

(iv) Waiting for Godot (D) Samuel Beckett
(E)T.S. Eliot

A (i) and (B); (ii) and (E); (iii) and (A); (iv) and (D)

B (i) and (A); (ii) and (E); (iii) and (D); (iv) and (B)

c (i) and (C ); (ii) and (A); (iii) and (E); (iv) and (B)

D (i) and (B); (ii) and (D); (iii) and (E); (iv) and (C)

E None of the above

Correct Answer A

Marks 1



42 Question Description "Inter-semiotic translation" involves only

A oral texts
B written texts
c translation between sign systems
D only poetry
E None of the above
Correct Answer C
Marks 1
43 Question Description From the sentences provided below, identify the compound sentence.
A She ran fast.
B She ran fast, and she won.
c Running fast, she won.
D She won.
E None of the above
Correct Answer B

Marks 1



44 Question Description “Beauty is truth, truth beauty, ---that is all / Ye know on earth, and all ye need to know.” Identify the poet and the poem

where the above statement occurs.

A Alfred Lord Tennyson’s “Lady of Shallot”
B John Keats’ “Ode on a Grecian Urn.”

c Lord Byron’s Don Juan

D S. T. Coleridge’s Ancient Mariner

E None of the above

Correct Answer B

Marks 1



45 Question Description The critic credited for having enunciated "Archetypal Criticism" is :

A Northrop Frye
B Harold Bloom
c Roland Barthes
D Terry Eagleton
E None of the above
Correct Answer A
Marks 1

46 Question Description The term "Gynocriticism" owes its coinage to ----
A Elaine Showalter
B Julia Kristeva
c Héléne Cixous
D Judith Butler’s
E None of the above
Correct Answer A

Marks 1



47" Question Description Identify from the following names, the Nobel laureate in literature from Nigeria.

A Wole Soyinka
B Chinua Achebe
c Chimamanda Ngozi Adichie
D Ngligi wa Thiong’o
E None of the above
Correct Answer A
Marks 1
48 Question Description "One Hundred Years of Solitude" was originally written in
A Italian
B Portuguese
c French
D Spanish
E None of the above
Correct Answer D

Marks 1



49 Question Description The acronym CLT stands for the term -----

A Communicative Language Teaching
B Creative Language Teaching
c Classical Language Teaching
D Comprehensive Language Teaching
E None of the above
Correct Answer A
Marks 1
%0 Question Description From the titles listed below, identify the play which is considered to be a tragicomedy
A Bertolt Brecht’s Mother Courage and her Children
B Christopher Marlow’s Dr. Faustus
c William Shakespeare’s Measure for Measure
D George Bernard Shaw’s Pygmalion
E None of the above
Correct Answer C

Marks 1



51 Comprehension

Question Description

A

Correct Answer

Marks

Read the Passage and answer the Questions:

Human skin maintains its health and smoothness by means of a fatty substance called sebum, secreted by millions of
glands located near the roots of hair. This oily substance oozes to the skin and forms a protective mixture with sweat,
to keep our skin moist and pliable. In very cold weather the sebum congeals and does not come to the surface of the
skin; as a result, the skin becomes dry and chapped. Over-production or under-production of sebum causes excessively
oily skin or excessively dry skin. During adolescence there is a rapid increase in sebum production causing skin
eruptions. But as we grow older, sebum production decreases, causing dry skin, wrinkles and lack of elasticity....
Although, all skins seem to look alike, our skin is particularly our own so that our fingerprint patterns are unique and
can never be found duplicated in any other skin pattern. Similarly, when there is a skin transplant, the skin is taken
from another part of the same body, otherwise the body is liable to reject it.

The discussion of sebum in the passage above, is relevant because it is

secreted right at the roots of hair on the skin

an oily substance oozing to the skin

protective of the health of human skin

a protective mixture with sweat

None of the above

C
1



52 Comprehension

Question Description

A

Correct Answer

Marks

Read the Passage and answer the Questions:

Human skin maintains its health and smoothness by means of a fatty substance called sebum, secreted by millions of
glands located near the roots of hair. This oily substance oozes to the skin and forms a protective mixture with sweat,
to keep our skin moist and pliable. In very cold weather the sebum congeals and does not come to the surface of the
skin; as a result, the skin becomes dry and chapped. Over-production or under-production of sebum causes excessively
oily skin or excessively dry skin. During adolescence there is a rapid increase in sebum production causing skin
eruptions. But as we grow older, sebum production decreases, causing dry skin, wrinkles and lack of elasticity....
Although, all skins seem to look alike, our skin is particularly our own so that our fingerprint patterns are unique and
can never be found duplicated in any other skin pattern. Similarly, when there is a skin transplant, the skin is taken

from another part of the same body, otherwise the body is liable to reject it.

From the options provided below, select the one which is an inaccurate statement about human skin

all human skins are alike

human fingerprints are unique

donor and recipient of skin transplant is mostly the same
during adolescence excessive sebum causes skin eruptions

None of the above

A
1






53 Comprehension Read the Passage and answer the Questions:

Human skin maintains its health and smoothness by means of a fatty substance called sebum, secreted by millions of
glands located near the roots of hair. This oily substance oozes to the skin and forms a protective mixture with sweat,
to keep our skin moist and pliable. In very cold weather the sebum congeals and does not come to the surface of the
skin; as a result, the skin becomes dry and chapped. Over-production or under-production of sebum causes excessively
oily skin or excessively dry skin. During adolescence there is a rapid increase in sebum production causing skin
eruptions. But as we grow older, sebum production decreases, causing dry skin, wrinkles and lack of elasticity....
Although, all skins seem to look alike, our skin is particularly our own so that our fingerprint patterns are unique and
can never be found duplicated in any other skin pattern. Similarly, when there is a skin transplant, the skin is taken

from another part of the same body, otherwise the body is liable to reject it.

Question Description Identify the word or term used in the passage to imply “using a part of the body from one donor site to transport it to
another”

A transplant

B human skin

c adolescent

D duplicated

E None of the above

Correct Answer A

Marks 1



54 Comprehension

Question Description

Correct Answer

Marks

Read the Passage and answer the Questions:

Human skin maintains its health and smoothness by means of a fatty substance called sebum, secreted by millions of
glands located near the roots of hair. This oily substance oozes to the skin and forms a protective mixture with sweat,
to keep our skin moist and pliable. In very cold weather the sebum congeals and does not come to the surface of the
skin; as a result, the skin becomes dry and chapped. Over-production or under-production of sebum causes excessively
oily skin or excessively dry skin. During adolescence there is a rapid increase in sebum production causing skin
eruptions. But as we grow older, sebum production decreases, causing dry skin, wrinkles and lack of elasticity....
Although, all skins seem to look alike, our skin is particularly our own so that our fingerprint patterns are unique and
can never be found duplicated in any other skin pattern. Similarly, when there is a skin transplant, the skin is taken
from another part of the same body, otherwise the body is liable to reject it.

As per the passage ,the root cause of loss of elasticity of human skin is

adolescence

decrease in sebum production

dry skin and wrinkles

old age

None of the above



55 Comprehension

Question Description

A

Correct Answer

Marks

Read the Passage and answer the Questions:

Human skin maintains its health and smoothness by means of a fatty substance called sebum, secreted by millions of
glands located near the roots of hair. This oily substance oozes to the skin and forms a protective mixture with sweat,
to keep our skin moist and pliable. In very cold weather the sebum congeals and does not come to the surface of the
skin; as a result, the skin becomes dry and chapped. Over-production or under-production of sebum causes excessively
oily skin or excessively dry skin. During adolescence there is a rapid increase in sebum production causing skin
eruptions. But as we grow older, sebum production decreases, causing dry skin, wrinkles and lack of elasticity....
Although, all skins seem to look alike, our skin is particularly our own so that our fingerprint patterns are unique and
can never be found duplicated in any other skin pattern. Similarly, when there is a skin transplant, the skin is taken
from another part of the same body, otherwise the body is liable to reject it.

In the context of the passage, the phrase “otherwise the body is liable to reject it” implies

if the skin transplant is not identical to the recipient’s skin

when skin transplanted is from another body

if the skin donor and recipient is not one and the same

all the above

None of the above



%0 Question Description Who received the ‘Most Impactful Environmentalist” award on World Environment Day?

A Vandana Shiva

B Sunita Narain

c R.K. Pachauri

D Acharya Prashant
E None of the above
Correct Answer D

Marks 1



57" Question Description In which Indian state will the country’s first underwater museum and artificial coral reef be developed?

A Kerala
B Tamil Nadu
c Goa
D Mabharashtra
E None of the above
Correct Answer D
Marks 1
%8 Question Description What is the name of the VTOL drone recently tested by the Indian Army for precision deep-strike missions?
A Tejas Mark 2
B Agni Prime
c Rudrastra
D Astra MK-II
E None of the above
Correct Answer Cc

Marks 1



%9 Question Description Which Indian state signed an MoU with IN-SPACe to set up a space tech hub?

A Kerala

B Karnataka

c Rajasthan

D Odisha

E None of the above
Correct Answer B

Marks 1



®0  Question Description Goa Chief Minister Pramod Sawant recently announced plans to enact a special law aimed at regularizing unauthorized

houses. On which specific types of land are these houses primarily located, making a special law necessary?

A Forest department land and wildlife sanctuary areas.

B Coastal Regulation Zone (CRZ) areas and private beaches.
c Comunidade land

D National Highway setbacks and railway property.

E None of the above

Correct Answer C

Marks 1



61 Question Description Which organization was accused by CCI of fixing advertising commission rates through WhatsApp groups?

A Facebook India

B Global media buying agencies
c Public sector banks

D E-commerce companies

E None of the above

Correct Answer B

Marks 1



62 Question Description The All Goa Road Contractors Association recently expressed strong opposition to a new Public Works Department
(PWD) decision. What was this controversial PWD decision that the contractors are demanding to be reinstated?

A Mandating the use of imported construction materials for all projects.

B Eliminating the practice of rejecting bids quoting 20% below the estimated project cost.
c Increasing the performance guarantee for all government tenders.

D Prioritizing contractors from outside Goa for major infrastructure projects.

E None of the above

Correct Answer B

Marks 1



63 Question Description Which Indian paramilitary force recently inducted women in combat roles in Maoist-hit areas?

A CRPF
B BSF
c ITBP
b CISF
E None of the above
Correct Answer A
Marks 1
©4  Question Description On which date is the World Day Against Child Labour observed annually?
A May 30
B June 5
c June 12
D July 1
E None of the above
Correct Answer C

Marks 1



®5  Question Description Which Indian state organized the 'Bodhi Yatra' to promote its Buddhist heritage with delegates from ASEAN

countries?
A Uttar Pradesh
B Maharashtra
c Bihar
D Gujarat
E None of the above
Correct Answer A

Marks 1



®6 Question Description A train travels 60 km in 1 hour on level ground. When going uphill, its speed reduces by 25%, and when going
downhill, it increases by 20%. If the train travels for 1 hour uphill, 1 hour downhill, and 1 hour on level ground, what

total distance does it cover?

A 165 km

B 177 km

c 186 km

D 180 km

E None of the above
Correct Answer B

Marks 1



67 Question Description If'A'is coded as 1, 'B' as 2, ..., 'Z' as 26, what is the sum of the letters in the word 'EXAMINATION'?

A 130
B 140
c 150
D 160
E None of the above
Correct Answer C
Marks 1
®8 Question Description A sum of money doubles itself in 5 years at simple interest. What is the rate of interest per annum?
A 10%
B 12%
c 15%
D 20%
E None of the above
Correct Answer A

Marks 1



69 Question Description If 'P' means 'addition’, 'Q' means 'subtraction', 'R' means 'multiplication’, and 'S' means 'division', what is the value of 8

R2S4Q6P2?
A 10
B 00
c 14
D 16
E None of the above
Correct Answer B

Marks 1



70" Question Description In a certain code language, if 'PAPER' is written as 'QBSFS', how is 'PENCIL' written in that code?

A QFQJDM
B QFQJDN
c QFQJDO
D QFQIJDP
E None of the above
Correct Answer C
Marks 1
1 Question Description In how many ways can the letters of the word '"LOGICAL' be arranged?
A 5040
B 360
c 720
D 1440
E None of the above
Correct Answer A

Marks 1



72 Question Description If'A'is coded as 1, 'B' as 2, ..., 'Z' as 26, what is the sum of the letters in the word 'COMPUTER'?

A 100

B 111

c 120

D 130

E None of the above
Correct Answer B

Marks 1



73 Question Description A sum of money doubles itself in 5 years at simple interest. What is the rate of interest per annum?

A 10%

B 12%

c 15%

D 20%

E None of the above
Correct Answer D

Marks 1



74 Question Description In how many distinct ways can the letters of the word 'PENCIL' be arranged if the vowels must always stay together?

A 120

B 240

c 720

D 360

E None of the above
Correct Answer B

Marks 1



75 Question Description The sum of the ages of a mother and her daughter is 50 years. The mother is 30 years older than the daughter. What are
their ages?

A Mother: 35, Daughter: 15
B Mother: 40, Daughter: 10
c Mother: 45, Daughter: 5
D Mother: 50, Daughter: 0
E None of the above
Correct Answer A

Marks 1



